Algebra 2 Name:
Homework—Inverse Functions

Determine if the following functions are inverses using composite functions.

X+7

1. f(x)=3x-7and g(x)zT 1.
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2. f(x)=4x+9 and g(x)==x—— 2.
4 4

3. f(x)=%x+6 andg(x) =x*+6 3.

Find the inverse of the function.

4, f(x)=7x+5 4.

5. f(x)=x*-8 5.

6. f(x)=x%+10 6.

7. f(x)=%x4+3 7.



Find each of the following functions.
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8. Let f(x)=12x%and g(x)=—-3x*

a. (f+9)(x) a.
b. (f-g)(x) b.
c. (fg)(x) C.

d. [ij(x) d.
g

Find the following compositions.
2

9. Let f(x)=25x5and g(x)=§
X

a.  (f(g() a,
b.  (g(f(x) b.
c.  (g(f(-D) c.

10. Determine whether f(x)=x-4 and g(x) =—x+4 are inverse functions. Explain.

a. f(x) and g(x) are inverse functions because f(x)+g(x)=0.
b. f(x) and g(x) are inverse functions because f(g(x))=-x.

f(x) _

c. f(x) and g(x) are not inverse functions because m——l.
d. f(x) and g(x) are not inverse functions because f (g(x))=-x.



